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1. DL UF (HAIZD) 20l 2,307 =]
2. B8 0UTEZE ( #®|FRE ) iz 2112 =
3. Bd FAES (BHATDT) IR 1,930.652 =
4, K FURE ( BES® ) IR 1,725 =]
5 WZ0 (BHEER) 18 1,630 =]
6. B C50\H6 ( pEE ) 15 1,547.928 =
7. 8iRK Rk (BHEER) R 1,537 =]
8. S5W5 IS (BHEER) 4l 1,432 =]
9. WX 0Oz (HAITDR) 4l 1,427 )
10. 8K HOD (HAIZDR) h 1,425 =]
11. AN HDUH (BHEER) 18 1,411 =]
12, BR HITF ( pBEE ) 18 1,347 =]
13. &8 LAU ( #EFE ) 18 1,326 =]
14, #$EH FHF (BHEER) 18 1,261 =]
15. DEBEN BF ( #mARBE ) $h 1,260.1 31 =
16. SIH A= (BHEER) 18 1,211 =]
17. BN HEC (BERHES) ¥ 1,138 =]
18. IR VDAHE (BBREF®) iz 1,133550 =
19. XK EUL® (BHEER) 5 1,117 =]
20. EBAB FALYB (BBREFR) i 1,091 =
21 s FTAU ( pBE%® ) IR 1,088.449 =
22, P85 FC& (BREF®) 30 1,074 =]
23. IHD EF— ( BNEBES ) b2l 1,058 =]
24, EAR DXL ( A% ) 3l 1,038 =]
25, & EZHXKu (BERHER) 18 1,028 =]
26. RO BEF (BRHES) 18 990 =]
27. HDEBIN 0U3&UL ( #mE ) IR 966.868 =
28. 6B 0OUTH (BHEFR) IR 839 =
29. FISH —= (BHEFER) IR 835 =
30. hE OA3L (BERHES) 31 814 =]
Rm AHBH X (EBHHINBAR) H 812 R
DLT EXR (BBEER) 1R 799 =
B W5H ( #FE ) E30) 750.419 =
EE B87F (BBEER) 3l 625 =
HEB 903 ( #ErFE ) 3l 382 =
2K 55U ( ®FRE ) 3l 295 =
FRN LIFR ( EFRAE ) 0l 253 =
BE B ( #EFRE ) h 230 =
HG 958 ( #RE ) h 163 =
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